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1. Consider the three transactions T1, T2, and T3, and the schedules S1 and S2 given below.
a. Draw the serializability (precedence) graphs for S1 and S2 and state whether each schedule is conflict
serializable or not.
b. For each conflict serializable schedule, write down all possible equivalent serial schedules.
c. If any of the schedules is view serializable, state why is (are) it (they) so (specifically for these
schedules. Do not write general definitions of view serializability). For each view serializable schedule,
write down all possible equivalent serial schedules.

T1: r1(x); ri(z); wi(x)
T2:12(z); r2(y); w2(z); w2(y)
T3:13(x); r3(y); w3(y)

S1: rl(x); r2(z); r1(z); r3(x); r3(y); wl(x); w3(y); r2(y); w2(z); w2(y)
S2: r1(x); r2(z); r3(x); rl(z); r2(y); r3(y); wil(x); w2(z); w3(y); w2(y)
[10+10+10=30]
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